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Exam:
Q.1: P1: Liad OVsleall J> Mark(s): 3/3
What is the solution of the equation Aslaalt Jat) <Y
8 =+ x = 8 from the given list Slanal) Aaflll (e 8+ x =8
0,1,2,4. .0,1,2,4

‘ Learning O C d l[

o MAT.2.02.02.005
o MAT.2.02.03.008




Q.2: P1: upall dolse J> Mark(s): 3/3

What is the solution of the equation 2x =6 il Ja g4 L

2x=67

\u ing O C d

o MAT.2.02.03.015

Q.3: P1: z2bJl OVslee J> Mark(s): 3/3
Solve. Ja 2yl
w-1=4 w-1=4

L i O C d ',

o MAT.2.02.02.005
o MAT.2.02.03.012




Q.4: P1; dowd)] OVdleo J> Mark(s): 3/3

Solve the equation. cAdaleal) Ja
X—-21 =21
3 3

l Learning O C d }

o MAT.2.02.03.017

Q.5: P1: &S slacl 8)gu0 dduwl dac yules YUS Mark(s): 3/3

Write 2 X 2 X 2 X 2 using an o) Al 2 X2 X2 X2 i)

exponent,

l Learning O C d i[

o MAT.2.02.01.008

2% % 2%




Q.6: P1: gazll dles J> Mark(s): 3/3

What is the solution of the equation 8+ x =18 il Js sa L
8+x=187

‘ Learning O C d I»

o MAT.2.02.03.010

Q.7: P1: & 2l juleil dags Sl Mark(s): 3/3

Evaluate the expression r— 5 Lr=10 1Y r—5 pail led sagf
If r=10.

‘ Learning O C d I»

o MAT.2.02.02.001




Q.8: P2: Ay Juieil doleo 4US Mark(s): 5/5

Write an equation to represent the function. Al Jiast dlalaa oS)
Ipute) | 1|2 |3 /4|5 2|3(4(5
0 6 12 18 |24 30 12 18 24 30

Learing Outcomes Covere |

o MAT.5.01.01.004

Q.9: P2: & 1> julsi plaziwl Ol ogy LS Mark(s): 5/5
Find the next two terms in the sequence, Al B ot st aaf
0,13, 26, 39,... 0,13, 26, 39,...
l Learning O C dl

o MAT.5.01.01.002

39,52

52,55




Q.10: P2: slac¥l b (e douzuall slac¥l Juiad Mark(s): 5/5

Graph the set of integers on a Lafaefibd e saeY) degans J?u
number line, {-3,0,-2,4}
{-3,0,-2,4}

l Learning O C d [r

o MAT.1.08.01.002

Q.11: P2: zuzuo das) dilball dogall Mark(s): 5/5

What is the value of the expression 7] + | =1 el dash Lo
171 +1-1]?

l Learning O C di|

o MAT.1.08.01.004

S @20 0 -




Q.12: P2: dauzall dlac¥l d)lés Mark(s): 5/5

Choose the true statement daaal) Blall 54

Learning O C d |»

o MAT.1.08.01.005
o MAT.2.02.03.010
o MAT.3.03.01.004

-6>4
a.
-8=-4
b.
i -3<0 o
-3<-4
d.
Q.13: P2: 2ozl OVslee 44US Mark(s): 5/5
A board that measures 9, 5 meters SOdiadid ) adela 150 9.5 Algh A gl
in length is cut into two pieces. e 7.2 AN dadadll gl idu
One piece measures 7.2 meters. AN dadadl) Jgha alady Alalee i)
Write an equation to find the length
of the other piece.
‘ Learning O C d I[

o MAT.2.02.03.010
o MAT.3.03.01.004

7.24+x%x=9.75 (V]




Q.14: P2: W12Vl Sgimall (e bily dsiyell 2lg;Ul Juied Mark(s): 5/5

Identify the ordered pair that names B dkiil) Jias o2 ciipal) o3l aas

A
the point B.
4 G
4
3
3 R
) C
5-4-3-2-10 2 345X
r| -
=&
‘ Learning O C d l» -3
o MAT.3.03.01.004 :
[ j

4,-2)

(21 _4)
b.

(_31 2)

Q.15: P1 daumall slaclll plaxiwl duogdl 8Uall o Ciblge Julad Mark(s): 3/3
Write the integer which represent AED 20 o€ o (ol praasal) snl) cig
a gain of AED 20 a share. g g
‘ Learning O C di|

o MAT.1.08.01.002




Q.16: P2: 2,551l plaziwl & pzl yuleill Jul=i Mark(s): 5/5

Factor the expression. + il Jl;
8x + 40 8x+40

l Learning O C d IF

o MAT.2.02.02.007

4(2x + 40)
b.
2(4x+10)
2(x+20)
d.
Q.17: P2: Spise dac dud e st GUS Mark(s): 5/5
Write the fraction —Zg as a decimal. NZ PN dia e —2 § sl sl
‘ Learning O C d 'r

o MAT.1.06.01.016
o MAT.2.02.03.015

e
o

—2.688




Q.18: P2: Uypo D¥slee 4US Mark(s): 5/5

The length of an object in feet is algh Gileal 3 Sgbw paills jualinl] aa Jgha
equal to 3 times its length in yards. etk 48 dle daljie Joho iy 50,00
The length of a waterslide is 48 feet. Jatjal) Jsha alay oy Alslwa i)

Write a multiplication equation Bl Lald)

to find the length of the waterslide

in yards,

‘ Learning O C d Il
T

o MAT.2.02.03.015

| 3x =48 Y
b.: :
48x =3
C.
48+x=3
d.
Q.19: P1: dislSall puleil LS Mark(s): 0/3
Simplify the expression. + el Jalay
x+x+x x+x+x
‘ Learning O C d }
o MAT.2.02.02.005
3x
a.
3+x
b.
C. _
2x




Q.20: P1: uzuo das) dilbuall dagall sla) Mark(s): 3/3

What is the value of the expression ¢ —3| uaill dad Lo
=317

\I ing O C ‘}

o MAT.1.08.01.004




